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Fill in the correct number sequence.

3259, 3359, 3459, 3559, :]
This number sequence starts with :}

To find the next number in this sequence, we count [ }in [ J

Find the missing numbers in each sequence by counting on or back.

a) 1817, 1827, 1837,[ } { ]50,:] i5.40 Fore G 1817,

[ J 4936. 50, 4936 is [:] more than 4934,
. 6]86,[:]. S0, 5186 is 2000 less than [:]

}, 6471, 6371, 6271. 50[:] is 400 more than 6271.

] [ ] So, 2136 is 4 less than D
.S0, 724615 10 less thnn:J )

b) 4932, 4933,

)
J

c) 3186, 4186,

o

e) 2136, 2140, 2144,

L

—

f) 7241, 7246, e 1208,

:
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